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11. Which of the following is/are true about the function g if g(x) =%_)6 ? (X 1X < _ |

x“+x—
(x+3X(x~2)
/I./ g is continuous at x =2 'qole, , 2
II. The graph of g has a vertical asymptote at x=-3 1 K—

M The graph of g has a horizontal asymptote at y =0 X+ 2

(A) Ionly II only (C) Mlonly (D)IlandMonly, (E) Il and Il only
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Free Response 2 (No calculator)

Given the function f(x)=m, X (Kk—l— AX - 3) _ X (X+3M
TS S0y = %) (ke 2D

(a) What are the zeros of f(x)? X= O X=-3
- )

(b) What are the vertical asymptotes of 7(x)? )( =—2_

Zx4 . |
(c) The end behavior model of f(x) is the function g(x) What is g(x) ?
(d) What is lim f(x)? What is lim === J&) o ’ 8
oo e g(x)
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Answers to Unit 1 - Limit and Continuity Review

Practice Problems:

1, 0
g3 =
5
R =
4. 1
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6. -1
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10. — = 6. A
11, = 7. C
12, does not exist S. D
13, — e 9, A
j j 101 .A
14, '\/: I11. B
& 12. D
15 i 13. A
T 14. A
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Free Response 2 (No caleulator)

Given the function J(x) =ii\z_"3_-‘

It +3x-6
(@) What are the zeros of f(x)?

Eb)) TWhhat are the vertica| asymptotes of f(x)?
c e i :
end behavior mode] of J(x) is the function g(x). What is g(x)?

() What s lim £(x)7 What is jjm £C
o g(x)

(&) The zeros of the function, f(x), 3 pts, 1 for each zero
occur at x =-3, 0, 1 .

(b) There is a vertical asymptote 1 pt for the vertical asymptote
at x=-2

©) gx)= %x 2 pts for g(x)

(d) lim f(x)=co 1 pt lim £ (x)
im £ _ 2 pts for lim /()
= g(x)

= ()

B (o

/e,f\/‘ )(l-k 3x % I
X > 2 X+ - X
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